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Q: 31) In water treatment, rapid gravity
filters are adopted to remove:

A : Dissolved organic substances
B : Dissolved solids and gases

C : Floating solids and dissolved inorganic
solids

D : Bacteria and colloidal solids
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Q : 32) The area of the openings in screen
should be such that the velocity of flow
through them does not exceed

A:0.75to1m/s
B:1.5to3m/s
C:3to5m/s
D:5to6m/s
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Q : 33) Match the following:

List-I List-ll

A. Dead end system P. It is suitable for cities with rectangular layout, where the
water mains and branches are laid in rectangles.

B. Grid Iron system Q. The area is divided into different zones. The water is
pumped into the distribution reservoir kept in the middle of
each zone.

C. Ring system R. It is suitable for old towns and cities having no definite
pattern of roads.

D. Radial system S. The supply main is laid all along the peripheral roads and
sub-mains branch out from the mains.

A: A-P, B-S, C-P, D-R

B:A-Q, B-S, C-R, D-P
C:A-R, B-S, C-R, D-Q
D :A-S, B-R, C-P, D-Q
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Q: 34) A town is required to treat 4.2
m3/min of raw water fir daily domestic
supply. Flocculating particles are to be
produced by chemical coagulation. A
column analysis indicated that an
overflow rate of 0.2 mm/sec will produce
satisfactory particle removal in a setting
basin at a depth of 3.5 m. The required
surface area (in m?) for setting is:

A: 200 B:350
C:420 D:840
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Q : 35) For proper slow mixing in the
flocculator of water treatment plant, the

temporal mean velocity gradient G needs
to be of the order of

A:15to10S?
B: 100 to 200 S
C:20to70S1?

D : 250 to 350 S
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Q : 36) The short circulating occurring in a
sedimentation tank is represented by
A : Surface loading

B : Displacement efficiency
C : Recirculation ratio
D : Detention time
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Q: 37) A rectangular tank 15m x 6m x 3m
has to treat 2 million litres of water per

day. The determination time of the tank
should be:

A :3.24 hours
B :5.63 hours
C:12.0 hours
D : 24 hours
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Q : 38) Total kjeldahl nitrogen is the:

A : Summation of organic an ammonical
Nitroe

B : Summation of organic and albuminoid
nitrogen

C : Summation of organic and free
nitrogen

D : Difference of organic and ammonical
nitrogen
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Q : 39) A floatation unit is usually
provided to remove :

A : Suspended solids
B : Oil and grease
C:Grit

D : Stones
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Q : 40) The purpose of recarbonation
after lime-soda process of water
softening is:

A : Removal of excess soda from water
B : Removal of non-carbonate hardness

C : Conversion of precipitates to soluble
from

D : Recovery of excess lime
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Q: 41) The maximum depth of
sedimentation tank is limited up to

A:2m
B:3m
C:4m
D:6m



d - SU;UMM&A NS
‘)?U“}J(‘*F Ym - ‘(\’w gml,,,,\u »

Y
vk offk b Ui Tl Sdinicladin lS,aoo 30,00 L[¥ s
%ﬂ SJANM(‘M | 30,{5004)\ 0500 llw'}'{,kag



~mIl:or Any Query Call - 8595517959 | Website — everexam.org
Q: 42) In primary setting tank,
suspended solids are reduced from
A :10to 20%

B:20to40%
C:40to 70%
D:70to 90%
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Q : 43) Consider the following statements
regarding removal of impurities from water:

1. Settleable solids are removed by
filtration.

2. Volatile solids are removed through
sedimentation

3. Dissolved solids are removed through
reverse 0smosis.

4. Colloidal solids are removed by
coagulation.

Which of the above statements are correct?
A: 1and 2only B:3and4only
C:2and 3 only D:1and4only
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Q : 44) When the recirculation ratio of
trickling filter for sewage treatment is R,
then the hydraulic recirculation factor is
1-R

" 1+R
B:(1+R)
C:(1-R)

1+R

D:ﬁ
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Q : 45) In double filtration, the name of
the first filter is

A : Roughing filter
B : Pressure filter

C : Rapid sand filter
D : Gravity filter
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Q : 46) Effective size to be used in rapid
sand gravity filter is

A:0.15-0.30 mm
B:0.45-0.70 mm
C:0.75-0.90 mm
D:0.95-1.100 mm
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Q : 47) The maximum permitted loss of
head in a rapid sand filter is

A:1m
B:2m
C:3m
D:4m
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Q : 48) For water purification in a city, it is
decided to use rapid sand filter after
sedimentation tanks, with the following
data: Design loading rate per filter = 200
m3/m?/day; design flow rate = 0.5 m3/s;
surface area per filter = 55 m2. The
number of filter units required in the
plant are:

A:3

B:5
C:4
B §-3v
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Q : 49) The cleaning of slow sand filter is
done by:

A : Scraping off top layers of sand and
admitting water

B : Passing air through the filter

C : Passing a solution of air and lime
through the filter

D : Reversing the direction off flow of
water
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Q : 50) Vacuum filters are used for:

A : Filtration of sewage

B : Filtration of sludge

C : Dewatering of sludge

D : Both filtration of sludge
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Q: 51) Air binding in rapid sand filters is
encountered when:

A : The water is subjected to prolonged
aeration

B : The water contains high dissolved
aeration

C : The filter bed compresses largely of
course sand

D : There is excessive negative head
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Q : 52) In which treatment unit is
schmutzdecke formed:

A : Sedimentation tank
B : Rapid sand filter

C : Coagulation tank

D : Slow sand filter
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Q : 53) Which of the following is incorrect
regarding a slow sand filter:

A : Incoming water should not be treated
by coagulants

B : Depth of water should be double the
depth of filter sand

C : Loss of head is limited to a maximum
of1.2m

D : Cleaning should not be done by back
washing
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Q : 54) The hydraulic loading for a high
rate trickling filter varies between :

A : 110 to 330 M/L/ per hectare per day
B : 50 to 60 M.L. per hectare per day

C: 500 to 600 M.L. per hectare per day
D : 11 to 33 M.L. per hectare per day
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Q: 55) The ‘sag’ in the dissolved oxygen
curve results because:

A : It is a function of the rate of addition
of oxygen to the stream

B : It is a function of the rate of depletion
of oxygen from the stream

C: It is a function of the rate of both
addition and depletion of oxygen from
the stream

D : The rate of addition of oxygen is linear
but the rate of depletion of oxygen is
non-linear
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Q : 56) The disinfection efficiency of
chlorine in water treatment

A : Is not dependent on pH value

B : Is increased by increased pH value
C : Remains constant at all pH value
D : Is reduced by increased pH value
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Q : 57) The main disadvantages of lime
soda process of water softening is that:

A : It is unsuitable for turbid and acidic
water

B : Zero hardness effluent can not be
obtained

C : Excessive hard water can not be
softened

D : Huge amount of precipitate is formed
posing the problem of disposal
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Q : 58) The compounds of chlorine
commonly used for disinfection are

A : Chloramines
B : Bleaching powder

C : Both chloramines and bleaching
power

D : None of these
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Q : 59) The suitable method for
disinfection of swimming pool water is
A : Ultra violet rays treatment

B : Lime treatment
C : By using potassium permanganate
D : Chlorination
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Q: 60) Order 4 disinfectants in increasing
order of their disinfection power?

A : Ozone < HOCI < Monochloramine <
NCI,

B : Ozone < NCI; < Monochloramine <
HOCI

C : NCI; < HOCI < Monochloramine <
Ozone

D : NCL, < Monochloramine < HOCL <
Ozone
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